Normalized gain (dB)

Circular array, two-way elevation pattern

Beamwidth uniform = 1.29°
Relative sensitivity = 0 dB
 Directivity = 70.49 dB

PSL =-34.9 dB; ISL = -34.8 dB

Beamwidth Rx taper = 1.38°

Relative sensitivity = -0.5 dB

~Directivity = 69.70 dB
PSL =-42.8 dB; ISL = -44.5 dB

_

Beamwidth Rx/Tx taper = 1.41°
'Relative sensitivity =-1.6 dB [\
Directivity = 69.65 dB l
PSL =-49.7 dB; ISL =-51.0 dB

¥
I“_:

l\

== Uniform taper Tx/Rx
== Uniform taper Tx, -30 dB Taylor taper Rx
- -15 dB taper Tx, -30 dB taper Rx
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